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Graphing Functions

Intercepts of  a function 
Finding the domain &Range from a 
graph

Identifying increasing & decreasing 
function 
Linear Function

!

"

#

$

% Piecewise Functions



x الجزء المقطوع من محور

y الجزء المقطوع من محور

Graphing Function

Intercepts of  a Function 

find the domain, x intercept, y intercept of  Example:

!

( 4=0 )

( 9=0 )

f- G) =

4 - 38
-

24+5Solution ;

24+5=0 ⇒ 2X 5

⇒ X= - I
2

i. Domains R - { -5g }

=L - a
, -5g ) Uts 1a )

•

ox - intercept Ly = o )

0=4 -

3×34=4
⇒ a- 4g

• y - intercept ( x=o )

f- Lol = 4-3.LI ⇐ I
Zeo ) +5 5



Finding the Domain and Range from the Graph

السھم یعني ان الرسم البیاني 
مستمر دون حدوث تغییرات

تشیر الى نھایة الرسم البیاني 
وان النقطة  لا تنتمي إلیة

Example: Find the domain and range for each graph 

"

Find the domain and range for the following graph 

تمارین : إیجاد المدى 
والمجال من التمثیل البیاني

open dot

solid arrowhead .

dot

*

Domain = C - 3,6 ] Domain = L - 4,5 ) Domains to , 5)

Range = C -5
, 4) Range = ( -4,3 ] Range = E-4,3 ]

FL 3) = - 5 f C o )=3 f C 3) =

Hw :

find feel
,

f (3)
,

f- (5) .

"Kfa,



Identifying increasing and decreasing function.#

-

-

Increasing : x. sq ⇒ fly , < f Cq )

Decreasing : ex
, sq -→ f Cx

,
) > fee )

Constant 8 X cake ⇒ f Cx
,
) = fuzz .

• ( Ig 5)

C- Ig I ) a

•

( sa - D

C- 3g - 4) .

Iffy

C- 2,4 ) • C 2,4 )

L 9- I )
C o , - I )



Linear Function

Piecewise-Defined Function

Functions whose definitions involve more than one 
expression are called Piecwise- defined functions

Example:

$

%



Piecewise-Defined Function

:
Ranges : C - a , 3 I

f- increasing on ( - Ng -2 )

decreasing conClg

Al

constant on C -
2

,
I ]



Even and odd Function
Algebraically:

Graphically:

A function is

Even : if f e- od -

- fcx )

odd : if fc - sa ) = -
f Cx ) .

Even function : symmetric with respect to y axis .

odd function : symmetric with respect to origin .

Eixample Solution comments .

fCxI= XII fc - 4) = C- 432+1 scifi - I
if 81 's }

= ax } I
← si obdt Iwl of Is ;

= fend
& @sj.IIJlS.n.I s *

.
: fan is even

° f. Isdb I .
I w I , of

- n S

f G) =
oft se f C- se ) = Gg

Is
+ G ⇒

* tf ' t ' FL .

IG 15 Is

-3
b s S A IF 8g Ej

=  - sa - X
. Aj -06161 IDI of

= - ( esta )

= -
f Cx )

i. feed is odd

f =
I '

+ gag .

f- C- e) = C- XY
t 3L - x ) ← s I III JIJI III , sgi basis

= hit
- sax ¥5 us Is 'S Jbl of E

⇐ fed

-
f Cx ) = -

sit
- 34

* f Cx )

Nie ther



.

Examples solutions comments .

f- Cx ) = I Sel f c-  x ) = I . sat = let = f Csc )

Even

f Ge ) = TX fc - so ) = Foe * fcsa )

- f Cx ) = -
Tx + f- Gc )

Neither

f- Go ) = I set - I f- C - se ) = I - set
- I

= I set
- I

= fess )

Even .

f f Csc ) = - se ft ⇒ = - L - se ) = -
f- Cx )

odd

Remark g

E x E  = E ELE  = E
E  IE  = E

0/0 = E
O IO =D OXO = E

E x 0=0 Elo = O
Eto = wither



Even, Odd, or Neither Worksheet ​Name:
_______________________

 
Determine whether the following functions are even, odd, or neither.

 
1. f(x)= 4x – 3

 

2. f(x)=

 

3. f(x)= -x2 – 4

 

4. f(x)= x3

 

5. f(x)= 7x
 

 

6. f(x)= 
 

 

 
 
7. f(x)= 3x2 ​     8. f(x) = x3 – 2 ​          9. f(x)= 3x + 4

 
 
 
 
 
 
 
 

TAITT

YAMAMAH
wither Even Even

& at
43

odd odd
wither

Even odd
Even odd Even

T.

T
r

?
9

f- C-  so ) = 3C - x )
2 f- C-  x ) =  C-If -2 FL - sa ) =3 C-  say +4

= 3×2
= -

- 2
= - 3×+4

& f C X ) f- f Cx )
s f Cx)

- f- Gc ) = - ( od - 2) - f- Gate - (3×+4)
Even

= - 53+2 = - 34
- 4

f- f C & f Cx ) .

Neither Neither
.



 
 
10. f(x)= x2 – 5 ​   11. f(x)= 10x + 5 ​         12. f(x)= 2(x+1)3

Multiple Choice Questions 

Even Even odd even

T. 9
. 9 9 z

- . .

f C-  se ) .
- ( - x ) Is f- C-  x ) = lol - x ) +5

f C x ) = 2 ( It 2x  + z )
even odd

= . lose - S .
= ox

'

- s
=

2×2+4×+4
* f C x )

= f Csc ) fl - so = 2L - so
'

) +4 C-  x ) +4
- f Csc) =  . (10×+5)

= 2×2 - 4 X +4
Even

=  - lose - 5
q f Csc )

* f- Cx )

Nether
- fc =  - ( 2×2+4×+4 )

=  - 2x
'

- 4 X - 4

Is f- Cx ) wither

>

1) . Whio of the following function  is neither even nor  odd
.

a) f CX ) =3 b ) f Cx ) =  X C ) ox - I d) f Cx ) = 134

2)- which of the following function is an  odd function .

9) f Cx ) = 345 b ) f- Cx ) = X
'

c ) f Csc ) = 44 d ) f Gd =
2×8

3)
- The function f Go = 5 is an even function .

9) - True
b ) - False

.

4) - The function f Csc ) = II is

a ) even
b) -  odd c) - wither

a) - True b) - False


